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Problem 4.21
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Problem 4.33

Ell is continuous (Eq. 4.29); D, i i

‘ . 4.29); D, is continuous Eq. 4.2 i = =

T ad hence (Eq. 4.26, with oy = 0). So Es, =-Ey,, Dy, = Dy, =
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I 1 is air and 2 is dielectric, tan 62/ tanf, =
, , = €2/€p > 1, and the field lines b
\he opposite of light rays, so a convex “lens” would defocus the field 11‘1:;38 a ey from the normal ThlS ®

Problem 1.57
v-dl = ydz,

(1) Left side: z = a — z; dz = —dz; y=0. Therefore [v-dl=0.
(2) Bottom: dz =0. Therefore [v-dl=0.
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Meanwhile, VXv = X, so [(V
while, =%, %v) - da i _— .
f(Vxv) - dais the projection of this surface on the zy plane = L.a-2a=a v
3:'G-4d=a.
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